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KSF 2018 Mathematics - Ecolier Level 3-4

3 point problems
MpofAnuata 3 povadwv

1. Leonie has 10 rubber stamps. Each stamp has one of the digits: 0, 1, 2, 3,4, 5, 6, 7,8 and 9.
She prints the date :

H Aswvn £xeL 10 odppayidec. KabBe obpayida £xel éva amnod ta Ynoia: 0,1, 2, 3,4, 5,6, 7, 8 koL 9.
EKTUTIWVEL TNV nUepoUnvia:

1/[5][0/[3] [2][0]1)8]

How many stamps does she use?
MNoéoeg obpayibeg xpnoLUomnolel;

(A)5 (B)6 (C)7 (D)9 (E)10

2. The picture shows 3 flying arrows and 9 fixed balloons. When an arrow hits a balloon, it bursts, and
the arrow flies further in the same direction. How many balloons will be hit by the arrows?

H ewova Seiyvel 3 uttapeva BEAN kat 9 otabepad pmaAovia. Otav évo BEAOG XTUTTA Eval UITOAOVL,
£KpAyvuTaL KoL To BEAOG cuve)ilel va TTETAEL TPOG TNV idla katevBuvaorn). MNooa pnaldovia Ba AnyoLv
oo ta BEAn;

(A)2 (B)3 (04 (D)5 (E)6

3. Susan is 6 years old. Her sister is one year younger and her brother is one year older. What is the sum
of the ages of the three siblings?

H ZouZav gival 6 etwv. H adeAdn tng elval £va £Toc¢ vedtepn Kal o adeAdOG TG eival €va £T0¢
peyaAUtepog. MNoto gival to GBpolopa Twv NALKLWY TV TPLWV adeAdwV;

(A)10 (B)15 (C)18 (D)21 (E)30
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4. The picture shows five screws in a block. Four screws are the same length. One screw is shorter.
Which screw is the shortest?

H ewkova Seiyvel mévte Bidec oe éva EUA0. OL Técoeplc Bideg €xouv To 1610 prKkog. Mia Bida eival €xet
ULKpOTEPO UnKoG. Mota Bida sival avth;

¥

(A1 (B2 (€3 (D)4 (E)5

5. Here is a picture of Sophie the ladybird ‘ She turns around. Which picture of the ladybirds
below is not Sophie?

ESw elval pla elkdva tng 20dng TnG maoyaAitoag ‘ MupileL. Z& moLOL ELIKOVOL TWV TILO KATW
nacyaAitowv Sev sival n 2oén;

(A) ' (B) Ill (C)’ (D) l (E) |l

6. Lucy folds a sheet of paper in half. Then she cuts a piece out of it % . What will she see when
she unfolds the paper?

H Aoukia SutAwvel éva UMD XOPTLOU OTO PECO. TN CUVEXELA KOPBEL VO KOUUATL Ao autd 2% LT
Ba beL dtav EeSuTAwoeL To Yapti;

Cel) POk C %

(A) (B) (Q)

U5 o8t

(D) (E)
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7. First, Diana scores 12 points in total with three arrows. On her second turn she scores 15 points.
How many points does she score on her third turn?

Mpwtn dopa n Ntiva ipe 12 movroug e tpla BEAN. Asltepn dopd mrpe 15 nmovtoug. Nocoug TOVIOUG
TiApE TV Tpitn dopy;

OO

12 points 15 points
12 mévtoug 15 mévtoug Y
(A) 18 (B) 19 (C) 20 (D) 21 (E) 22

8. Mike sets the table for 8 people. He must set the table correctly for the persons sitting at the table.
Correctly means the fork on the left of each plate and the knife on the right. How many people does
Mike set the table correctly for?

O MuiyaAng B€AeL va eTOLUACEL TO TPATEL YIA 8 ATOUA UE TO CWOTO TPOTO. MNPEMEL va TomobeTel To
TIPOUVL OTA APLOTEPA KAOE TILATOU Kal To paxaipt ota Se€ld. Mo moéoa atopo 0 MXaAng oTpwWVEL CWOTA
TO TPaMELL;

On it KO
O
HOEOREY N

(A)5 (B) 4 (C)6 (D) 2 (E)3

IO

4 point problems
MpoBAnuara 4 povadwv

M
9. Roberto makes designs using tiles like this . How many of the 5 designs can he make?

M
. ’ i’ . ’ 1] Ths i’ i’ I ’
O Mwpyoc KAVEL oXESLA XPNOLUOTIOLWVTAG TAAKAKLO GOV OUTO . Moéoa amo ta 5 oxédla pmopet
val KQVEL;

e % % Y
Mg ML 3R R . v ‘ R 3R N v
Lo AN e Y LAY LAY % AR R
e i P P R
PLAY R v v J v e
v
| K —

(A1 (B2 (€3 (D)4 (E)5
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10.

Albert fills the grid with these five figures:
O Avtpéag yepilel To MAEYUA HUE QUTEC TIG TTEVTE PLYOUPEC:

'

~

Each figure appears exactly once in every column and every row. Which figure must Albert put in the
cell with the question mark?

KaBe pyolpa epdavitetal akplpwe pia popd os kaOe otAAN Kot KAOe ypopun).

Mowa pLyolpa MPEMEL va TOTOBETHOEL 0 AVIPEQC OTOV TETPAYWVO UE TO cUpBOAD ? .

(A)@ (B)ﬁ&“ (C)% (D)% (E)?f/él{

11. Tom cuts two types of pieces out of grid paper. What is the smallest number of pieces that Tom
needs in order to cover completely the boat in the picture?

O Xpiotog k6BeL U0 TUMOUG CXNUATWY ATO £Va TETPAYWVIOUEVO XaPTL. MoLog gival 0 PLKPOTEPOG
0pLOUOC oXNUATWY TIOU XPELATeTaL 0 XpiloTog yla va KOAUEL TTANPWC TO 0KADOG OTNV ELKOVQ;

Q_ square = TETPAywvo
square trapezium . .
trapezium = tpamnédlo
boat = okadog
boat

(A)5 (B)6 (C)7 (D)8 (E)9
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12. The colours in this picture must be swapped over. Then the picture has to be turned around. What
does the new picture look like?

To XpWHATO GE AUTAV TNV ELKOVA TIPETIEL VAL AVTLOTPOPOUV. 3TN GUVEXELA, N ELKOVA TIPETIEL VAL KAVEL
otpodn. Nwg paivetal n véa lkova;

(A). (B). (C). (D). (E).

13. Peta rabbit has 20 carrots. She eats 2 carrots every day. She ate the 12th carrot on Wednesday. On
which day did she start eating the carrots?

le

ﬂa‘_)?
é . 
B .

(A) Monday (B) Tuesday (C) Wednesday (D) Thursday  (E) Friday

7
=
=9

To Mapng to KouvéAL €xel 20 kapdta. Tpwel 2 kapdta kAbe pépa. Edaye 1o 120 KapoTO TNV TETAPTN. 2€
oL NUEPA APXLOE VO TPWEL TO KOPOTA;

(A) Aeutépa  (B) Tpitn (C) Tetaptn (A) Néprmtn (E) Napaokeun

14. Toby glues 10 cubes together to make the structure shown below. He paints the whole structure,
even the bottom. How many cubes are painted on exactly 4 of their faces?

O Xapng koAAdel 10 kUBoug pall ya va KAVEL TN KOTAOKEUH TIoU daiveTal MopakdTw. Xpwuatilel
OAOKANPN TNV KATAOKEUT, AKOLO KOL TO KATW UEPOCG.

Moéool kuBol elval xpwHaTIOPEVOL O aKPLBWG 4 amod Tig £5peC Tou.

(A6 (B)7 (C)8 (D)9 (E)10
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15. There are 8 flowers on a rose bush. Some butterflies and some dragonflies sit on the flowers.

There are no more than one insect per flower. More than half of the flowers are occupied.

The number of butterflies on the flowers is twice the number of dragonflies on the flowers.

How many butterflies sit on the flowers?

Yriapyxouv 8 AouAoUdia os pia tplavtadulild. Kamoleg metaAoUSeg Kal LePLKA LUpURYKLO KaBovTal ota
AouAoUdLa. Aev UTTAPXOUV TIEPLOCOTEPA ATIO £VA EVTOMO ava AouAoUbL. MeplocdTtepa amo ta pLod and
ta Aouloubila eivat kateAnppéva. O aplBpog Twy metaAolSwV ota AouAoldLa ival SUTAGCLo¢ amno tov
opLOUS TWV pUpUNYKLWVY ota AouAoUdLa. Mooeg metaloldeg kaBovtal ota AouAoudia;

(A)2 (B)3 (C)4 (D)5 (E)6

16. Captain Kook wants to sail from the island called Easter through every island on the map and back to
Easter. The total journey is 100 kilometres (km) long. The distance between Desert and Lake is the same
as the distance between Easter and Flower via Volcano. How far is it directly from Easter to Lake?

O kamnetaviog Kook B€Aet va ta€ld£PeL amnd to vnoi, mou ovopdletal Easter va nepdosl anod kabe vnot
OTO XAPTN Kol va emloTp£Pel oto Easter. To cuvoAwko taidt eivat 100 xtAwopetpa (km). H amdotaon
petaL tou vnolou Desert kal Tou vnowoU Lake sivat iSla pe tnv anmootacn Petall Twv vnowwv Easter
kot Flower péow tou Volcano. Mdon sivatl n ansuBeiag anootaon tou Lake ano to Easter;

Flowur 15 [ et

(A) 17 km (B) 23 km (C) 26 km (D) 33 km (E) 35 km

5 point problems
MpoBAfuata 5 povadwv

17. The rooms in Kanga's house are numbered. Baby Roo enters the main door, passes through some
rooms and leaves the house. The numbers of the rooms that he visits are always increasing.

Through which door does he leave the house?

Ta Swpatia oto oritt tou Kayka eivat apBpunuéva. O Mwpyog eLoEpyeTal amd TV KUpLOL TOPTA,
SLEpxeTaL oo Kamola SwHdtia Kot GpevyeL amo to omitl. Ta voUEPO TWV SWHATIWY TTOU ETILOKETTETAL
auéavovtal cuvexwc. Amo moLa mopta peVyEL and To Oty

|

a'a3T1T27,
+ 4+ + +

ot et

9+5+8+9_|_12
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(AJA (B)B (C)C (D)D (E)E
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18. Four balls each weigh 10, 20, 30 and 40. Which ball weighs 307?
KaBepia ano tig téooeplg pnaleg Luyilet 10, 20, 30 kat 40. Nota pnaAa Juyilel 30;

(A)A (B)B (C)C (D)D (E)itcouldbe A or B(Ba unmopoloe va sivat A i B)

19. The band shown in the drawing can be fastened in five ways. How much longer is the band fastened
in one hole than the band fastened in all five holes?

H Zwvn mou daivetal oto ox£SLo pnopet va KAeloel pe Tiévte Tpomout. MNooo o Peyain sival n {wvn
OTEPEWUEVN OE MLo TPUTIAL OTtd TNV {Wwvn OTaV ElvVOL OTEPEWUEVN KOL OTLC TTEVTE TPUTIEC;

Avouktn wvn
Unfastened band

Seml = Seml

Zwvn KAelotn e pia tpuma
Band fastened in one hole

s

(A)4 cm (B) 8cm (C)10cm (D) 16 cm (E) 20 cm

P 8
= ¢ & T
20. In an ancient language the symbols

represent the numbers 1, 2, 3, 4, and 5. Nobody knows which symbol represents which number.

We know that:
/-.'\
Ze ulo apyaia yAwooo ta cUpBoia

OVTLIPOOWITEVOLV TOUG 0plBpoUC 1, 2, 3, 4 kat 5. Kaveic ev E€pel moLo cUUBOAO AVTLTPOCWIEVEL TOV
oplOud. Z€poupe OtTL:

BrB=x =G Ferox=mm

Which symbol represents the number 3?
Moto cupBoAo aviutpocwreUeL Tov aplOpod 3;

AT (8) :;:I' (c><@> )Wt () <=X
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21. The stained glass tile is flipped. One of the flips is shown. What does the stained glass tile look like at
the far right?

To oxedlaopévo yuali avaotpédetal. Mia and tic avaotpodEg daivetal oto oxniua. TLoyn Ba £xeL To
oxebloopéVo YUaAL oto Tilo 8e€Lo onpeio;

Avaotpodn

Yk S AVAN
LS

AL NG bvk
(A) ﬂﬂ (B) *;a (Q) g

w ﬂ"ﬂt
(D) %ﬁ* (E) Pg

22. The large rectangle is made up of a number of squares of various sizes. The 3 small squares each
have an area of 1. What is the area of the large rectangle?

To peydaho opBoywvio amoteleital and diadopa tetpaywva Sladopwv pueyebwv. Ta 3 HKpA TETpAywva
€xouv guPado 1. Moo eivat to epPadod Tou peydiou opBoywviou;

1[1]1]

(A) 165 (B) 176 (C) 187 (D) 198 (E) 200



THALES FOUNDATION : Kangourou Mathematics 2018, Level 3-4

23. Loes wants to write the numbers from 1 to 7 in the grid shown. Two consecutive numbers can not
be written in two neighbouring cells. Neighbouring cells meet at the edge or at a corner.

What numbers can she write in the cell marked with a question mark?

O Aoung BéAeL va ypael Toug aplBuoug 1 éwg 7 oto mAgypa ou daivetal. Avo Stadoyikol aplBpuol dev
UtopoUV va ypadtoUV o SU0 YELTOVIKA KeALA. Tal YELTOVIKA KEALA £XOUV KOV TIAEUPA R KoL) Kopudr).
MoloUg aplBuoug puropel va ypadel oto KeAL TOU CNUELWVETOL UE ? ;

(A) all seven numbers (B) only odd numbers (C) only even numbers (D) only number 4
(E) only the numbers 1 or 7

(A) 6Aoug Toug emta aptBuouc (B) povo mepittoug aptBuolg  (C) povo uyouc aplBuoulg
(D) povo tov aplbuo 4 (E) povo toucg apBuovgln 7

24. To defeat a dragon Mathias has to cut off all the dragon's heads. If he can cut off 3 dragon's heads,
one new head immediately grows. Mathias defeats the dragon by cutting off 13 heads in total. How
many heads did the dragon have at the beginning?

Ma va viknoel éva 6pako o MavBog mpémet va ko el OAa ta kepahia Tou Spakou. Otav amokomnteL 3
Kedpahia Tou SpAaKovTa YEVVIETAL APECWCE Eva VED KEPAAL. O MavBog viknoe Tov Spako KOBovtag
oUVOALKA 13 kedpaAia. Mooca kedpdAla elxe o Spdkog otnv apxn;

(A)8 (B)9 (C)10 (D)11 (E)12



